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QUESTION 1

Which technique protects the data in cache from power failures? 

A. Vaulting 

B. Mirroring 

C. Cache tiering 

D. Idle flushing 

Correct Answer: A 

 

QUESTION 2

Which type of Fibre Channel (FC) ports do the labels "X" and "Y" represent in the exhibit? 

A. X is an F_Port and Y is an E_Port 

B. X is an F_Port and Y is a G_Port 

C. X is a G_Port and Y is an N_Port 

D. X is an N_Port and Y is an E_Port 

Correct Answer: D 

 

QUESTION 3

Why should a replica be consistent with its source? 

A. Ensure the usability of the replica 

B. Reduce the need to create multiple replicas 
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C. Ensure the security of the replica 

D. Reduce the size of the replica 

Correct Answer: D 

 

QUESTION 4

An organization plans to deploy a new application in their environment. The new application requires 2 TB of storage
space. During peak workloads, the application is expected to generate 9800 IOPS with a typical I/O size of 4 KB. The
capacity of each available disk drive is 250 GB. The maximum number of IOPS a drive can perform at with 70 percent
utilization is 90 IOPS. 

What is the minimum number of disk drives needed to meet the application\\'s capacity and performance requirements
given a RAID 0 configuration? 

A. 8 

B. 70 

C. 110 

D. 140 

Correct Answer: C 

 

QUESTION 5

What is a benefit of link aggregation in a SAN? 

A. Provides a higher throughput than a single interswitch link can provide 

B. Distributes the network traffic across all virtual SANs, ensuring even virtual SAN utilization 

C. Optimizes performance by consolidating all interswitch links into a single physical link 

D. Provides the flexibility to deploy the same interswitch links for both FC and iSCSI traffic 

Correct Answer: A 
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